Math 129 - Review 2 Name % ey
D

These problems may help you review, for Test 2. They are coded to match the course
objectives from your syllabus. Your actual test will not be as long as this review packet.
Unless otherwise indicated, you should simplify all answers by reducing fractions, simplifying
radicals, and/or rationalizing denominators (as you’ve done on your ALEKS homework).

Objective: Solve radical equations. [11] |

1. Solve for z: €'/§5—_+4—2
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Objective: Solve equations involving rational exponents. [11]

5. Solve for r:  3(r+1)%4 -9 =15
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6. Solve for z: (2x—i§)2/3:4 '
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7. Find the z-intercepts of the graph of f(z) = —3(z — 2)*/5 + 48.
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Objective: Solve equations that are quadratic in form. [7,11]

8. Solve by using a substitution: 2?3 — 2213 — 15 =10

V3
- / U=3, u=-3
S =
wi-du-15=0 Q i
-\95, X= a7
(u-5)(us3)=0 h= 188, j
9: Sélve by using a substitution:  (y? —y) — 8(y% — y) + 12 = 0
2 :
U=4-4 & U=Q3, U= 0

- uW-Buxld=0 /3"‘-%-a=o 4 -y™-6=D
(u-2)(u-6)=0 (g2 =0 (4-3)(ya)>

10. Solve by using a substitution: 272 —2z7!—35=0

LL:X

(UL 7>(w~ 5)= Oj
u=-56
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Objective: Graph two-variable equations in the rectangular coordinate system. [1,8,9,10]

11. Determine five points on the graph of y = 2z — 3. Then plot your points and sketch

the graph.
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12. Determine two points on the graph of b = —-Ea + 4. Then sketch the graph. Be sure
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to label.your axes.
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13. Find a solution of the equation 22 + 2a = 4. Write your solution as an ordered pair.
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Objective: Find the distance between two points in the rectangular coordinate system.

14. Find the distance from

(=1,4)
(5+1) 4 (-3~ Q) J 3649

15. Find the distance from the point on the graph of y = z2+ 1 where = —1 to the point
on the graph where x = 3.

Y=\ =3 [ (aa)s (0-2)*
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16. A diameter of a circle has endpoints (1, —4) and (9,0). Find the radius of the circle.

d= J@ 1) (u)? - Jedsie = Voo = V5
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Objective: Determine the midpoint of two points.

17. Find the midpoint of the line segment connecting (1, —5) and (4, —8).

WY -sa () ( s - \ﬂ

18. A diameter of a circle has endpoints (1, —4) and (9,0). Find the center of the circle.

(+9 -Y4yao )
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Objective: Use the standard form equation of a circle. [9,10]

19. Determine the center and radius of the c1rcle descnbed by (:c + 72+ (y—2)2=12.
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RAB\\A3 / t=

20. Determine the center and radius of the circle described by z? + y? 4 2z — 8y + 8 = 0.
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21. A circle centered at (—
equation for the circle.
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—3) has a diameter of length 8. Find the standard form

Y‘:L\

22. A diameter of a circle has endpoints (1, —4) and (9, 0). Find the standard form equation

for the circle.
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Objective: Graph circles. [9,10]

23. Sketch the graph of the equation (z — 3)? + (y + 1)2 =4
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Objective: Gain familiarity with some basic graphs. [1,9,10]
24. Sketch a detailed graph of y = 3.
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25. Sketch a detailed graph of y = |z|.
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Objective: Determine solutions of two-variable linear equations. [3]

27. Find two points on the line described by y = 5z — 2. B
X= 0O "//(\;’8>7 ' = f(\,?a) ;7
3 -3 | ’ l\ = R |

—— )

]

28. Find three_»ﬂp\g@nts on the line described by 3z + 5y = 16. N
\ AN
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| f’”< . a? 3(3)+5(8) = 6+/0 = /g 3(8) ~ 5(%) -
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Objective: Graph a line by finding two points on the line. 3]

29. Find two points on the line described by 2z — 3y = 6. Then plot the points and sketch
the graph of the line.
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Objective: Find the z- and y-intercepts of a line. [3]

- 30. Find the z- and y-intercepts of the line described by —5z + 8y = 16. Write your,
intercepts as ordered pairs, and say which is which.
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Objective: Compute the slope of a line and interpret it as a rate of change. [2,4]

31. A line passes through the two points (8,3) and (—2,4). Compute the slope of the
line. From one point on the line to another, the y-coordinates by —8. What is the

corresponding change in z-coordinates? t Cvange
T \
S SR | (ix-80
ax = -jo [ 1o- s —— = > AX=80)
B JXe; AX —

32. A line has slope —3/4. In moving from one point on the line to another, the change in
z-coordinates was 6 units. What was the corresponding change in y-coordinates?

-3 U8y (- (Ca )

Objective: Identify equations of horizontal or vertical lines and graph them. [2,3,4]

33. Determine an equation of the line passing through the two points (—3, 6) and (=3, —10).
e \/ AL

34. Determine an equation of the horizontal line through (9, 13).



Objective: Determine lines parallel or perpendicular to given lines. [2,4]

35. A line passes through the points (1, 1) and (6, 4). Flnd an equation ¢ of the perpendicular
line through (5, —6).

m =29 3 5+(o-'-—(x 5>
AX - 5
36. A line passes through the point ( —2 and is parallel to the line described by y =

8z — 7. Find an equation of the hne Wnte your final answer in standard form )
‘ | v
BT ("3,'&) Y= 8x x93 —

37. A line passes through the points (3,1) and (3, 0). Find equations of the lines parallel
and perpendicular to the original line. Label which is which.

OR\S\NAL LE \S ParAawiL . ..

Vernieal ... X= 3 S

Objective: Find and apply the slope-intercept form of the equation of a line. [2,4]

38. Find the slope and y-intercept of the line described by 2z — 5y = 8. Write your

y-intercept as an ordered pair. _ 3
9)( - 8 = 5:3 m = *5—
- 2y-
5 ) 5 Y-\wT = ( O, "~

39.- A line with slope —3/7 has y-intercept (0, —4). Find an equation of the line. Write
' your final answer in standard form.

3:_737-—)(-\\ ‘75=-3x-98

o

40. A line is described by the equation y = 32 —2. Find the slope of the line, and determine
two points on the line. J/

m=3
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Objective: Graph a line using its slope and a point. [2,4]

41. A line is described by the equation 5z 4+ 2y = —10. Rewrite the equation is slope-
intercept form. Then use the intercept and the slope to sketch the graph. Be sure to

label your axes.
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42. A line with slope 1 /2 passes through the point (—3,0). Sketch the graph of the line.
Be sure to label your axes.
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Objective: Apply lines and linear equations in real-world applications. [2,3,4]

43. The length of the humerus (the bone from the elbow to the shoulder) is a good indicator
of height. A female with a humerus of length 26.1 cm is approximately 143.5 cm tall,
while a female with a 20.4 cm humerus is about 127.6 cm tall. Assume that humerus
length and height satisfy a linear equation. Determine that equation. Round all
numbers to the nearest tenth.

y= 13- Bx+b

? m = — 7~ 4.9 ' =9 8(90,5/)+6 = 9,8x+70:5
7 6 5.7 187. = 2 J |
0.4, 127 6) ‘ ( PSR G
: b~ 7.5
44. A car currently worth $24,575 depreciates at a constant rate of $1752. Let v represent

the value of the car in dollars, and let ¢ represent time in years. Using the variables v = ¥ = -Hum@eul
and t, write an equation for the value of the car. W)g"\*

y= - 1753t + 34675

5= HEwquw

Objective: Determine whether a relation is a function. [10]

45. Carefully explain why this relation is not a function.

{(1v2)’ (275)’ (3v8)a (47 10)? (-1v8>7 (379)}

)
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46. Sketch the graph of a relation that is not a function.

¢
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47. For any real number, z, let f(z) = % — 2% + 1. Does this define a function? How do
you know?
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" 48. Does this table describe a function? How do you know?
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Objective: Determine the domain and range of a function. [1]

49. What is the domain of the function F(z) = z2 + |z|?

AL\. RAL #’s
, , , P2z —6, e
50. What is the domain of the function g(z) = m? A #
- W L M
Q(+\\KX*5>~O Loy
EXCESY A=7Y,
X':”\) Xt"’é \(:'5 /"

(-0,-5) v (-5,7)
V k'\)d))

51. What is the domain of the function h(z) = /2 — 427

-Yx >2p => 924x
. A0S X / \"“

2 A W ReAL X S
- \ i
For wwiew X=3
52. What is the range of the function f(x) = z2? ; T N
; . -, s

Ob jective' Use function notation and evaluate functions. [*]

53. Let f(z) = vz + 7. Evaluate f(9). What about f ( 8)7

’Dm‘ Ve ’@ Tt = "\/T Nera |

54. Let g(y) = 2y? — 3y + 7. Expand and simplify g(t — 5).

q(x-5) = (x-8)- 3(k-8)+ T
933 - 204 + 50 - 33”\547
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Objective: Interpret graphs of functions. [1,10]

55. The graph of y = h(z) is shown below. Use the graph to solve each part of this
problem.

LT

-3 -2 -1 0 1 2 3 +f 5 8
. > -1

(a) Is this the graph of a function? How do you know?
\/ES, THe PN PALTEY THE VEeTicAL Lime TERIT
(b) What is the domain of h?
I-393] v (\'\) (a]

(c) What is the range of h?

| (-8,7]
(d) Determine h(-2). .
h(-8) ~ d
(e) Determine h(3.5).

N oV DEFINED,

(f) Determine h(0).

ho) = Qa

(g) Determine an z-value for which h(z) = 3. How many are there?

Tuwe ace Tueee. Ope & Y= 0.
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56. The graph of y = f(z) is shown below.

(a) What is the domain of f?
[-5,5]

(b) What is the range of f?

[-4,9]

(c) Determine intervals on which f(z) < 0.

[‘5)'\3 @) (OJ3>

(d) Determine intervals on which f(z) > 0.

<_‘*)O)' v (3 51
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Objective: Evaluate difference quotients. [5]
g(z +h) - g(x)

Completely expand and simplify your answer. ,

L) + 1 L= Dy | Uy +Mn + ) = Yy o) 4,

. T

=14

57. Evaluate the difference quotient

for the function g(z) =4z + 1. |

flz+h) - f(z)
h

Completely expand and 31mp11fy your answer.

K(XJ«V\\ Y (X—\v\\\ *31 lx +x4g:{ /Z: Qx\\ *\(\ *’X+\v\-\-/8) )( - 8(

n h

58. Evaluate the dlfference quotlent

for the function f(z) = z? + z + 2.

ATANES N ) >/< (3%~ W+ \) PN
= " - = K :L‘h@ux;\r\*\ "

g(z +h) - g(z)

Completely expand and simplify your answer.
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59.. Evaluate the difference quotient for the function g(x) = 222 + 6.

5



